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General Instructions:

i. There are 32 questions in the question paper. All questions are compulsory.
ii. Question no. 1 to 16 is Objective Type Questions of 1 mark each.

iii.Question no. 17 to 22 is short answer type questions, carrying 3 marks each. Answer to each question
should not exceed 80 words.

iii. Question no. 23 to 26 is source based questions, carrying 4 marks each.

iv. Question no. 27 to 31 is long answer type questions, carrying 5 marks each. Answer to each
question should not exceed 120 words.

vi. Question no. 32 is map based, carrying 5 marks with two parts, from History (2 marks) and from
Geography (3 marks).

aAET der:
. 9% g 7 32 ueeT g1 gt wea ey €

ii. 9% Ho 1 & 16 TEIASS ThR & URed gl

iii. 927 Fo 17 ¥ 22 oY 3 YR & U &, [SheTdl & ycdeh & 3 37 g1 Ycdeh TeT & 3} 80
rsal ¥ 31T AGT gleAT TIRT|

iv. 92T Ho 23 ¥ 26 &g 3maRa 92 & a8 @ 9d% H 4 3% gl




v. 92T Fo 27 ¥ 31 &Y 30T YR & WA &, [T T Uqh H 5 3k §1 A U &l 3
120 erset & iM% AT gl aifev|
vi. 99T F 32 el IR g, 3faerE & (2 3h) 3R $EieT (3 3eh) HT 5 I § |

Question no. 1 to 16 is MCQ type questions, carrying 1 mark each.

92T Ho 1¥ 16 d%F MCQYFR & W & T3+ & v 137+ Aula & (1X16=16)

Q.1 Which of the following was the reason for calling off the Non-cooperation Movement by Gandhiji?

IS GART THEINET 3HTcTeled Pl &G Hlel H HRUT [AFT@d H I el UT?

A. Pressure from the British Government fSIfeer TR FT caTd
B. Second Round Table Conference &fddid INeTHST HFHoTT
C. Gandhiji’s arrest arefieir T FRTarr

D. Chauri-Chaura incident IRT-IRT ST "ear
Q.2 The three major cropping seasons of India are- #HRd $r et a9ddg Eljﬁ Eh_(:l:'@' %—
A. Aus, Aman and Boro 31, 3HAT IR I
B. Rabi, Kharif and Zaid ~ T&T, @{® 3R SE
C. Baisakh, Paus and Chait aﬂ'l'@, iy 3R I9
D. None of the above 3RFT H & a;’[é’ sTer

Q.3 Which of the following are the features of ‘Holding together federation’-

T Sy G caaedr A faeT & T g O [{Qdwame §-

i. A large country divides its power between constituent states and the national government.

Teh 32 UeHh Tl 3N g WHR & T 39 afFa & [aforg wwar &

ii. The Central government tends to be more powerful vis-a-vis the States.

$he TR Tl A 3R 30 AFdeme) s i HIRrer Hdr &

iii. All the constituent states usually have equal powers.

gl g TS H NMHAAR W TAT AFaAT gt &1




iv. Constituent states have unequal powers. €& TAT H A AfFAAT £

Which of the above statements are correct? 3URIeFd HUT H T HieT 4T QTE?I' %’?

A. i, ii,iiiand iv B. iandiv C. ii andiii D. i,ii andiv

Q.4 Public health is the responsibility of which one of the following?

gradtfae ey Fafaf@a & 3 Fadr SFaed g2
A. Primary Sector grafAs &9 B. Private Sector foioil &9

C. Government IR D. None of these 310 & HIS &l
Q.5 Match the term with the statements given below: st 6T 3T FUAT & TTY UG I AAT FI-

A ‘Utopian Society’ is 'q\aﬁm qrarger g-

(i) a society under a benevolent monarchy Teh 3c O ERCD ded Uch HATST

(ii) a society that is unlikely to ever exist UHT AT oI HT JTdca H gl hr THTGAT Tgr &

(iii) a society under the control of a chosen few wise men

T T §U G[UA I & AIA0T H v A

(iv) a society under Parliamentary Democracy HIGT dllehdd & ded T HATST
A. (i)and (ii)) B. (ii)and (iii) C. (ii)jonly D. (iii)only

Q.6 The first great revolution which gave the clear idea of nationalism with its core words: ‘Liberty, Equality

and Fraternity’ was: ~ Ugell Hglel shifd fAa 319al el sl "TIATAT, FAAAT IR Seca &

1Y I5¢adle &l Tqse faar e

A. The Russian Revolution 4T sifa

B. The French Revolution WA shifd

C. The American Revolution IARET wifar

D. India’s First War of Independence  HRd ol Ygell TadadT GarH

Q.7 Who established the Young Italy secret society? 3T el Il IS I TUTIAT fohdtel 2

A. Giuseppe Garibaldi o-?IIQc@q INTETeS! B. Victor Emmanuel i fd@ex VAT 3T E‘(ﬁ?ﬁﬂ




C. Giuseppe Mazzini F{I)FQ’Q Afcasir D. None of the above s?ﬁff o ﬁé’ H%T
Q.8 Most of the public sector undertakings market their steel through -
AIaollfcier &7 & 7T FIY 3Ushad 39 STUTT &l fohy ATETH & §dd -

A. SAIL B. BHEL C. TISCO D. HAL

Q.9 Who among the following recognises political parties in India?

RAff@d & O Sl IRT # Tafas ol S ATIaT dr g?

A. Election Commission Tl 3TINET B. President of India HRd & Tsgufd

C. Speaker of Lok Sabha olleh&HT 37€T&T  D. Supreme Court gafea =QraTery
Q.10 Name the oldest political party of India. $Rd & T q;,Tl?ﬁ TSTeilfdeh 9Ter &7 =118 CRIEN
A. Bahujan Samaj Party EI§GI?-T AT el
B. Indian National Congress (Congress Party) HRIT ST HEd (m QTE{T)
C. The Communist Party aﬂ:ﬂﬁ}? qrer

D. Bharatiya Janata Party HRAIT STedT 9Tel

Q.11 Which one of the following is an example of a country having the multi party system?

faf@d # ¥ i ngoﬁ‘lq cIGEAT dTd &2 T Teh 3ETeI0T g2

A.China fl¥ B. USA T TH T C.India #RA  D. United Kingdom IsTiges fohersar

Q.12 Which one of the following is an example of Formal sector loans?
Tfef@a & O a1 fgaRe 83 & Foi F1 3geIor g7

A. Relatives ReAGR  B. Friends & C. Money lenders €« 3YTRGIAT D. Banks S

Q.13 Which one of the following supervises the works of all the banks and form rules for them?

fArfof@a & & wla gt df & Frat &1 gdagTor wxar § 3R 306 fov Fus s rar &2
A. State Bank Of India #RcIT ¥&C d§&  B. Union Bank Of India ?IIJ?PII?T d 3w sfzar
C. Syndicate Bank IGEETACED D. Reserve Bank Of India #RdT Rad &«

Q.14 What is a substitute of Cash and Cheque? $eT US dh I [dhed FAT %?

A. Credit Card ShfS€ TS B. Coin T8 C. Currency 31';\'T D. Demand Deposit f3ATg fRBuitare




Q.15 Which one of the following is beverage crop? T 7 ¥ 99 o A @ %’?

A .Rice dIdel B. Wheat ﬁ§ C.Tea dII D. Maize Hdhl

Q.16 Which one of the following is a ‘National Political Party’?
ffef@a & O Fila e T ToEifae gl g2
A. Samajwadi Party HATSAET TTer B. Rashtriya Janata Dal TI'@'J Sleldl cel

C.Rashtriya Lok Dal ITS¢IT @leh Gof  D. Bahujan Samaj Party qgoteT HATS qrér

Question no. 17 to 22 is short answer type questions, carrying 3 marks each.

WA Hol7 W22 aF oY 3T TFR F e 8, Te4F & fav 3 3w fuiRa (3X6=18)

Q.17 Explain the vertical division of power by giving examples from India.

IR ¥ 3ETEI0T ¢ad OaT & FtareR f3urareT i sarear fifav|
Q.18 Explain any three reasons responsible for land degradation in India.

HRA H A &ROT & TU [GFACR fohegl ofie RO &1 saredr Hifav|
Q.19 Explain the contribution of Otto von Bismarck in German unification.

ST ThRoT H 3i1eT afed foEATd & Aerere dr <aredr Hil

Q.20 What are the conditions required for cultivation of Rice in India.

HRT H I9d i @l & AT 3maeges od &1 g1

Q.21 What is Resource? Classify resource on the basis of origin.
AT FI7 §? 3caTd & IMUR 9 FETEA T Jafiched Y|
Q.22 What is money? Why is modern money accepted as a medium of exchange?

HT &1 §? Yfish HeT 1 AfAAT & Aegsd & &9 & F37 ThR fham ST g2

Question no. 23 to 26 is source based questions, carrying 4 marks each.

WeeT o 23 ¥ 26 W ImuRT wewT § forerel ¥ vdF & AT 4 3% AuiRa & (4X4=16)

Q.23 Read the text given below and answer the following questions.




Jr RE av @ 1 98 3R Fafaf@d weat & 39 )

Manufacturing industries not only help in modernising agriculture, which forms the backbone
of our economy, they also reduce the heavy dependence of people on agricultural income by providing
them jobs in secondary and tertiary sectors. Industrial development is a precondition for eradication of
unemployment and poverty from our country. This was the main philosophy behind public sector
industries and joint sector ventures in India. It was also aimed at bringing down regional disparities by
establishing industries in tribal and backward areas. Export of manufactured goods expands trade and
commerce, and brings in much needed foreign exchange. Countries that transform their raw materials
into a wide variety of finished goods of higher value are prosperous. India’s prosperity lies in increasing
and diversifying its manufacturing industries as quickly as possible. Agriculture and industry are not
exclusive of each other. They move hand in hand. For instance, the agro-industries in India have given a
major boost to agriculture by raising its productivity.

ﬁﬁﬁwmamﬁaﬁaﬂaﬁawdﬁaqud g, S gAY 3rdcyarar $r g
9o ¢, PR I W A A A AR B A G I8 eadiEen 3R gras & A
ﬂwmm%lmmmmrﬁmaﬂ?mmﬂéﬁmwﬁ
%I?‘r%\'lWwﬁmma?m?ﬁﬁauem&Tzfj@ﬂl%%ﬂwaﬂﬂml
ST 3R o &t 3 A A TATTAT FF AT FHAAAIN B HHA FAT o SHA
Eaauwfaﬁﬁaamﬁarﬁaﬁawaﬂwamwﬁﬁmm%wmmew
ﬁ?@ﬁmﬁm%lﬁ%é&ra’rmﬁ%w AT & 3T Hoqé??\wmﬁwﬁﬁlﬁ
Rfaar & seed § THey §1 Rd & GHefd 3 AT 3e@i @) seg @ See ge 3R
R o= & RRd §1 P 3R SehT T @R F 3T A E| T g F o R &
W%%@,Wﬁﬂjﬁﬂ?ﬁﬁﬂ?ﬁscwq*dl dGIehY Y I Teh FST dgmar feam &

Answer the following questions by choosing the most appropriate option

TR 39gFd RAwer gaat Meafaf@a weal & 3o &

23.1. Manufacturing industries fall in and agriculture in
RfeoT SezT M PR )
A. Primary, Secondary Sector B. Secondary, Tertiary Sector
B. Primary, Tertiary Sector D. Secondary, Primary Sector

23.2. Manufacturing provides job opportunities to reduce dependence on agriculture.

Identify which sector the following jobs belong to -

AT ST o AT T F7 T & TIT YRR & AT TeleT Far gl Hefarad
APl & OT &7 T ggaT Y -

Jobs created or promoted by manufacturing industries Sector




a- Garment Production & 3c9lGed 1- Primary 9TdTA®
b- Research & Development 3el&=dTel TF Tdehrd 2- Tertiary g
C- Banking STemar 3- Secondary gddiaeh
D- Mining @elel 4- Quaternary TJIh

Choose the correct option -

A. a-1,b-2,c-3,d-4 B. a-3,b-4,c-2,d-1

C. a-2,b-3,c-1,d-2 D. a-4,b-1,c-4,d-3

23.3. Which of the following options does not help in modernising agriculture?

frafaf@d 7 & ®i9 a1 faFew ™ # 3myfas s« 7§ Agg T FAw

A. Manufacturing farm equipment feAToT 3UeoT
B. Providing unskilled labour force 3ipRTel HH AfFd UeTeT T

C. Supplying fertilizers and pesticides 3d¥ehi 3R shreaArerent $r Yfc =T

D. Producing tube well pumps and sprinklers a\q\aﬁa 99 3R &deR #I 3cdTes

23.4. In order to attract foreign manufacturing firms, a country needs to develop -

fagel fafawtor sufaal & 3efa wta & fov e qor a1 fasfaa e & 3maeasharn ¢ -
A. Agrarian facilities ¥ W B. Cultivable lands F¥ I ofH

C. Media facilities fRfZar ﬁ‘%ﬂlﬁ D. Infrastructure facilities 3TaE{IATcHS W

Q.24 Read the source given below and answer the questions that follows:
M e v @i #1 9¢ 3 Aeafaf@a geat & 33 &

Following the defeat of Napoleon in 1815, European governments were driven by a spirit of
conservatism. Conservatives believed that established, traditional institutions of state and society- like
the monarchy, the Church, social hierarchies, property and the family -should be preserved. Most
conservatives, however, did not propose a return to the society of pre-revolutionary days. Rather, they
realised, from the changes initiated by Napoleon, that modernisation could in fact strengthen
traditional institutions like the monarchy. It could make state power more effective and stronger. A
modern army, an efficient bureaucracy, a dynamic economy, the abolition of feudalism and serfdom
could strengthen the autocratic monarchies of Europe. In 1815, representatives of the European
powers who had collectively defeated Napoleon, met at Vienna to draw up a settlement for Europe. The
Congress was hosted by the Austrian Chancellor Duke Metternich. The delegates drew up the Treaty of
Vienna of 1815 with the object of undoing most of the changes that had come about in Europe during
the Napoleonic wars. The Bourbon dynasty, which had been deposed during the French Revolution, was




restored to power, and France lost the territories it had annexed under Napoleon. A series of states
were set up on the boundaries of France to prevent French expansion in future.

1815 H ANATA T gR & dlc, JANT WHR Ffeare I oaam & IRT A Ffeardy
AD & T Tog 3R FATS H IRARE TEAT G TAATE, T, QAT S GeTIshad, Ui iR
aRaR-aREr & @fad frar s arfgel grerifss, siftemer wWawarfeat & qa-wifasr &t
& GHTST H 19T 1 T A6 har| dfewh, 3ol HegE foham, Ao garT % fhu arw
ARl &, fah ITEfAhIaor aredd # TSAET S IRURS HEAAT T Aol A Hehell ¢
g g 1 AfFT A1 3 gomrell 3R Al ST Feohll 81 Toh 3MYfAh Bell, Toh FHRrel
AIRTRATEY, Teh ITfcreliel riegaean, ardare 3R Aeleoldl $T 3eHeled JAT Hr fATHer Tl
Sl FASTT X Fehall gl 1815 &, JUAT ATl & IiARATEAT o W §9 & Aqiferds &
BT, WY & AT U FFsilar aoet & fov fAger & e e a 3iifeecars araen s3%
AcclaT garr gee fhar arar ar| gfafafedt & 1815 % A« dfYr & 3mfa frar foad
WW%WWﬁWMQTmﬁWWWI Bourbon <149,
5 sy Fifad & SReT ger I IraT o7, T AT F S8t Y T Im on, 3R BiE o 3
g S @l e o1 S Ao & el ) sfasT A B fAEIR S Uehel & fAT Wi
r WAL X TSI AT vh AT TAAT Fr TS A

Answer the following questions by choosing the most appropriate option
FIH 39gFd RAwer gaat Arafaf@a weal & 3o &

24.1 Which of the following statements correctly describes about European conservative ideology?
fFrfaf@d & & i @ Fud U Fearer [aRuRT & s’ # FE7 qoie Hdr §?

A. Preservation of believes introduced by Napoleon.
Ao earT A& fohw T faearat 1 EaoT|
B. Preservation of two sects of Christianity.

SHIS €3 & ol HYGl & HI&T0T|

C. Preservation of socialist ideology in economic sphere.
3w &7 A FAER GORYRT &1 E&0T|

D. Preservation of traditionalist beliefs in state and society
U 3R FATST H WA AT T HIETT
24.2 Identify the purpose to convene the Vienna of Congress in 1815 from the following options?
fArfaf@d fasedt & @ 18157 FIF & AT & JoId F 36T A TgAA F?
A. To declare competition of German unification STHA THEROT T GO AT

B. To restore conservative regime in Europe ?II;{TC[ H wfeardr emdel &l dglel el & folv




C. To declare war against France %I & f&e® g $r =9IV e & fow
D. To start the process of Italian Unification SdTeld! ThIehioT & Tfhar Iw F & fow

24.3 What did conservatives focus on at the Congress of Vienna? Select the appropriate option.

g 1 T 7 Feardy fFa W Hfed A2 39g+d Aheq &1 ag=T |

A. To re-establish peace and stability in Europe
AT # erifd 3R FEUar & i @ ¥1id aa & fau
B. To establish socialism in Europe
T A FATSTAEG Sl TUTAT & fAT
C. Tointroduce democracy in France
BE H eliehdd H IRNTT &of & fow
D. To setup a new Parliament in Austria
e A v A% dae T & & fav
24.4 How did the Congress of Vienna ensure peace in Europe? Select the appropriate option.

fagar & @ @ qUT A 59 aifd gAY H? 3ugFd [aehed #1 aaeT H|

A. With the restoration of Bourbon Dynasty
gaf TSTde i F@Tel & /Y
B. Austria was not given the control of Northern Italy
JIRECAT & 3 Sealr Fr fAgqor a1gr fear = or
C. Laying out a balance of power between all the great powers in Europe
U9 7 gl wgrerfeFaal & dra AfFd o1 Telel Tl
D. By giving power to the German confederation

AT TG F AfFT I

Q.25 Read the source given below and answer the questions that follows:
MY e v A9 1 @ 3k A=fRf@a et F 331 &

In a democracy, we are most concerned with ensuring that people will have the right to
choose their rulers and people will have control over the rulers. Whenever possible and necessary,
citizens should be able to participate in decision making, that affects them all. Therefore, the most




basic outcome of democracy should be that it produces a government that is accountable to the
citizens, and responsive to the needs and expectations of the citizens. Some people think that
democracy produces less effective government. It is, of course, true that non-democratic rulers are
very quick and efficient in decision making and implementation, whereas, democracy is based on
the idea of deliberation and negotiation. So, some delay is bound to take place. But, because it has
followed procedures, its decisions may be both more acceptable to the people and more effective.
Moreover, when citizens want to know if a decision was taken through the correct procedures, they
can find this out. They have the right and the means to examine the process of decision making. This
is known as transparency. This factor is often missing from a non-democratic government. There is
another aspect in which democratic government is certainly better than its alternatives: democratic
government is legitimate government. It may be slow, less efficient, not always very responsive, or
clean. But a democratic government is people’s own government.

dehelT H,§H T§ FARYT el & TIU Fad T8 AT § o o9 v 3oa emaehi
I Folel I JTARR G 3N I T gl I fAT=01 gem| St 8t Hevg 3R 3mmaeash g,
AR Y A0 ot I 6T of e H TETH gl AT, S 37 T Y YA i g1 safaT,
Alehcd &I T JiAAEr IRUMA Ig gler =g foh a8 W THR &l FATT Y ST ATiRent
& 9fd STareceE g 3R AERHT 1 ravgeransit AR e & ufd sTRer 81 T &
aaa § fF diehdd FF JAE WHR FH FAT0T Far g1 I8 AfRag 7 @ 39 § & I
AMhditAed S AU daF 3R FATeaTs ﬁqu oot 3R Ferer §, ST, e far-famsy
3N aIaEd & fIUR W IR g1 39T, T S8 g & fov areg g1 A, Fife sua
gfhar3lt &1 gt Far g, safov sas Ao aen & 3iffe T iR 3if@e gerdr &
gohd &1 ST 3TATEl, ST ARTRS ST II8d & [ FAT ol Uihar3tt & #Aregsd 9 [vy fo=r
IGT AT, AT F SHBT IT oI bl gl 3oTh Ird 0TI ot Fr gfehar T Sra et &1 ISR
IR grae &1 58 UReRIar & ¥ H AT AT &1 T§ PR IFH I-dAlpdiae TWeR T
AT giem gl U 3 uge] & THH Slierdifae TR ARTd 7 @ 39e dsedl ¥ d8aX &
Al THR I TR &1 Tg AT, FAT g Tl §, AAT Tgd Heaeler AT T
Tgi| offchel Teh WllehdiTAdh TXHR Al I 3Tell TPR gl

Answer the following questions by choosing the most appropriate option
FIH 39gFd RAawer gaat Aeafaf@a gl & 3@ &

25.1. People’s right to choose their own rulers is called as the -
AT EERT 39 QAMEh YoTol T TUBR I gl STl § -
A. Right to education f&TT &7 319K B. Right to information AT T 3SR

C. Right to Vote Hd Sl &I TARR D. Right to Referendum SieTdd HIE &I fURR




25.2. Which of the following options helps in promoting transparency in the governance?

fArfai@d & @ &l a1 [deheT et H IRGRIAT &I §¢rar ¢ 7 #Heg T §7?
A. Right to education foreTr 1 AR

B. Right to information T &1 kItEars

C. Right against exploitation AMYUT & faeqy TSR

D. Right to speech and expression  3ifAcaiadd &I AFR

25.3. makes the government legitimate.

THR A 9§ ¢
A. Credibility of politicians IJTSTadT3il T faaa=iadr
B. People’s movements o3I o 3Teqlolel

C. Free and fair elections ¥ada 3K fasgar golTd
D. Holding of powers QIfFdl sl YROT
25.4. Decisions in a democracy are more acceptable to the people because they are -

eehdd & AT oNelt &1 3o T gla § #ife 9 § -
A. Taken swiftly and implemented quickly it & foram 3 STedr & @] fohar
B. Taken by giving privileges to the people @19t &I [AAWTORR Shx forar r=aw
C. Taken through elites’ votes W AQr & AregH & forar =
D. Taken after following due processes  fadd IfHITIHT ST el A & a1 Toram aram

Q.26 Read the source given below and answer the questions that follows:
M R’ v @9 F1 98 3 Aeafaf@a veat & 3@ &

Ford Motors, an American company, is one of the world’s largest automobile manufacturers with
production spread over 26 countries of the world. Ford Motors came to India in 1995 and spent Rs.
1700 crore to set up a large plant near Chennai. This was done in collaboration with Mahindra and
Mahindra, a major Indian manufacturer of jeeps and trucks. By the year 2004, Ford Motors was selling
27,000 cars in the Indian markets, while 24,000 cars were exported from India to South Africa, Mexico
and Brazil. The company wanted to develop Ford India as a component supplying base for its other
plants across the globe.




WIS HICH, Ush AR huell, gierar & 26 ¢l # %ol 3cdlceT & AY giaar & ded 27
JTErAEST AAEERT & O te g1 BIS Ay 1995 H RA 3T 3R T| deAs & U Udh §97
TIT T el & fAT 1700 608 F9d| Ig ST 3R gl & 97T ARAY fA#Tar afger vs
AGST & TEART & fhAT 3T ATl a9 2004 doh, BIS AT HARAT STSRT F 27,000 R 9T QT
o, STfeh 24,000 R TR & STaToT 37hiehr, Afdraent 3R sToiter @1 fdTer &1 918 df| shoelr gheram
M A 3T 3T FIAT & AT MUR AT YRS F dTe gk & & A BIS 5331 & afad
ST drgar AT

Answer the following questions by choosing the most appropriate option
TR 39gFd RAFer gawt Aeafaf@a gl & 3@ &

26.1. The passage given above relates to which of the following options?

FR &Ar =T A AFAfAf@d 7 @ o Aoy @ gefed §?
A. Increased employment U9 &¢I B. Foreign investment facelr foaer

C. Foreign collaboration facelr @gaer  D. International competitionﬁﬁ?‘l‘@'{f gfaaarar

26.2. According to the given passage, Ford Motors can be termed as a Multi-National Company based on
which of the following options?

IS Ay & Rl Reedt § @ 5 3R W AS-AATT FUH Fgl ST Fehell o7

A. Production of different types of automobiles

RAffeT YR & iTerHEsd HT 3caed

B. Largest automobile manufacturer in the world
gierar & @ a3 e HaATar

C. Because of large scale exports of cars across globe

gierar s & $RT & 99 YA W AT & HROT

D. Industrial and commercial ventures across globe

gfr &R 3 ShePr 3R aSEE se

26.3. By setting up their production plants in India, Ford Motors wanted to -
HRA H 397 3cdlced HIAT I TUAT FXh BIS AlCH d1gdr AT -

A. Collaborate with a leading Indian Automobile company
Tsh GHE ARAT HSHSGS Huel & AT FEder
B. Satisfy the demands of American, African and Indian markets

AN, 3ThIhT 3R HRATT STSRT & AR Sl Q@ HL




C. Tap the benefits of low-cost production and a large market

hH AR dlel 3¢9l AR T §3 dTTR & ol T T H
D. Take over small automobile manufacturing units in India
R # DI AcATsd afaAmor sesar
26.4. ‘Ford Motors' wish to develop Ford India as a component supplying base for its other plants

across the globe is an evidence of -

BIS HICH gdT o H 0 3 G & AU 3R $ 31t & arel geh & F A
wIs 3f3ar o ARl e T gwoT W@ ¢ -

A. Promoting local industries of India #Rd & TG ISAENN Sl FTdT oIl

B. Merging trade from different countries ~ Taf#esT I & SUR &1 Ao

C. Supplying jobs to factory workers in India Rd H HREIA & ATHBT Pl AT Sall
D. Interlinking of production across countries &2 H 3cdIGeT & TREAX TG

Question no. 27 to 31 is Long answer type questions, carrying 5 marks each.

e To 27 W31 dF Y 30dT YR & Wed &, 9 A+ & fav 5 3% AuiRa & (5X5=25)

Q.27 What are impacts of globalization on Indian agriculture?
HRAT HY 9T ARAIIIOT & FoTT F7 &2
Or 3IAYdr

What is Globalisation? Explain two positive and two negative impact of globalisation.

FRTOT AT §? ARATRLOT & &l WehRTcHe 3R &l FAhRIcH Fd Iy|
Q.28 Explain any three ways to solve the problem of unemployment.
RIS I FAET HF &l A & v AT Ik admy|

Q.29 What was the role of women and students in Civil Disobedience Movement?
AfAeTT e 3natelet # Al 3 oEt f AT =4 A
Or 3Ydr

Explain the major factors, which promoted the sense of nationalism in the Indians.
31 YW FRA! HT AT Y, fSiegled HRAAT F ISCIAT Y #1911 T Ferar feam|

Q.30 Give differences between public sector and private sector. Any five.




grasifaes a7 3R et 87 & dude fra= 3707 S|
Q.31 Write the importance of ‘manufacturing sector’ for our nation.

gAR Isg & forv fafaATor &y ‘& #Agea & ford|

Or 31Ydr

“Manufacturing industry is considered the backbone of economic development of India.” Give reasons.

"TAfAATOT 35T T T F 3V fFewra Hr Jg AAT SATAT g1 FHROT 2|

Question no. 32 is Map based questions, carrying 1 mark each.

W o 32 AT IR weet §, o ¥ v+ & fav 13% AuiRa &1 (1X5=05)

Locate the following at appropriate place in outline map of India.

RA & AT H FeaAfaf@d T &1 a1 @y |
(i) 32.1 Black soil area  @TolT @I’E.‘:@f O E

32.2 Hirakund Dam @T@T‘:’ C1h3)

32.3 Nuclear power plant — Tarapur IYATIT Foll IT - dRTIY

(i) Two places A and B have been marked on the given outline map of India.

Identify them and write their correct names on the lines drown near them.
ARA & QU 10 AT 9T ar ¥« A 3R B 3ifhd e arw §1 3% ggae 3R 39er
TEr 7 |
32.4 A Place associated with the calling off the Non-Cooperation Movement.

T STE Sl 3THEANT 3Malelel Hl &g Hl & 37 ¢

32.5 Congress session-1927 EIA &l f&¥AerT -1927
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